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1. <20pt= Determine whether each of these functions from {ab.c.d} to itself'is
one-to-one ar onto, (HAGE £5)
A, flay=d, flb)=a, f(e)=c, f{d)=b
B. f(a)=b, f{a)=b, f{c)=d, f{d)=c
C. fla)=d, f§B)=b, fle)=c, fid)}=a
D, flay=a, f{b)=b, fle)=d, fd)=d

2. <20pt> Find the two smallest positive solutions to the system of congruencies
x=lmod 3, andx=3mod 5, andx =2 mod 7.

3. <20pt= Use mathematica! induction to show that

S K =nn+1){Zn+1)/6
Ky

4, <20pt> Determine the number of integer solutionsof %+ %+ ®at x=30, where
%122, %=1, Xa=1, we=1.

O
3, <d0pr=How J'.'Mubltm b solved in 1000 second using an algorithm that

requires f{n} bit operations, where each bit operation 15 carried out in Lo second.
with these values for fin)? (@44 )
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